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WTO-H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
answers in Hindi will not be valued.

Question No. 1 is compulsory.
Attempt any five questions out of the remaining six questions.

In case, any candidate answers extra question(s)/sub-question(s} over and above the
required number, then only the requisite number of questions first answered in the answer
book shall be valued and subsequent extra question(s) answered shall be ignored.

Working notes should form part of the answer.

Marks

I. Answer the following : Sxd
(a) The following figures are available from the records of ABC Company =20

as at 31" March.

' 2015 (T in lakhs) | 2016 (Z in lakhs)
Sales 200 250
| Profit 30 45
Calculate : e

(i) The P/V ratio and total fixed expenses.
(ii) The break-even level of sales.
(iii) Sales required to earn a profit of T 70 lakhs.
WTO-H P.T.O.
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(b) Supreme Limited is a manufacturer of encrgy saving bulbs. To

manufacture the f{inished product one unit of component ‘LED" is

required. Annual requirement of component “LED” is 72,000 units, the

cost being T 300 per unit. Other relevant details for the vear 2015-2016

are :
Cost of placing an order
Carrying cost of inventory
Lead time -

Maximum

Minimum

Average

Emergency purchase
Consumption —

Maximum

Minimum

Average

You are required to calculate :

(i) Re-order quantity

(i) Re-ordering level

(111) Minimum stock level

(iv) Maximum stock level

{v} Danger level

© Thelnstitute of Chartered Accountants of India
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2,250

12% per annum

20 days
8 days
14 days
5 days

400 units per day
200 units per day

300 units per day



(3)
WTO-H ' Marks
(c) ABC Company’s equity share is quoted in the market at T 25 per share
currently. The company pays a dividend of ¥ 2 per share and the
investor’s market expects a growth rate of 6% per year.

You are required to :

(1) Calculate the company’s cost of equily capital.

(ii) If the anticipated growth rate is 8% per annum, calculate the
indicated market price per share,

(iii) [If the company issues 10% debentures of face value of ¥ 100 each
and realises ¥ 96 per debenture while the debentures are
redeemable after 12 years at a premium of 12%, what will be the
cost of debenture ?

Assume Tax Rate (o be 50%.

(d) The following information is related to YZ Company Ltd. for the year
ended 31" March, 2016 :

Equity share capital (of T 10 each) ¥ 50 lakhs
12% Bonds of T 1000 each T 37 lakhs
Sales T B4 lakhs
Fixed cost {(excluding interest) T 696 lakhs
Financial leverage 1.49
Profit-volume Ratio 27.55%
[ncome Tax Applicable 40%
Y ou are required to calculate :
(i) Operating Leverage:
(ii) Combined leverage; and
(111) Earnings per share.
Show calculations upto two decimal points.

WTO-H P.T.O.
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2. (a) A company has introduced a new product and marketed 20,000 units. g
Variable cost of the product is ¥ 20 per unit and fixed overheads are
T 3,20,000.

Y ou are required to :

(i) Calculate selling price per unit to eam a profit of 10% on sales

value, BEP and Margin of Safety.

(1) If the selling price is reduced by the company by 10%, demand is
expected to increase by 5000 units, then what will be its impact on
Profit, BEP and Margin of Safety ?

(iii) Calculate Margin of Safety if profit is T 64,000,

(b) The following figures and ratios pertain to ABG Company Limited for g
the year ending 31% March, 2016 ;

Annual Sales (credit) Z 50.00,000
Gross Profit Ratio 28%

Fixed assets turnover ratio (based on cost of goods sold) 1.5

Stock turnover ratio (based on cost of goods sold) 6
Quick ratio r LiEd
Current ratio 15
Debtors collection period 45 days
Reserves and surplus to Share Capital .60 : 1
Capital gearing ratio (.5
Fixed Assets to net worth b4
WTO-H
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You are required to prepare the Balance Sheet as at

31* March, 2016 based on the above information, Assume 360 days in

a year.

3. (a) The Trading and Profit and Loss Account of a company for the year ¢
ended 31-03-2016 is as under :

Trading and Profit and Loss Account

4 T

To matenals 26,80,000| By Sales (50,000 units) |62,00,000
To wages 17.80,000| By Closing Stock (2000
To Factory Expenses 9,50,000 nits) 1,50,000
To Administrative By Dividend received 20,000
Expenses 4.80.200
To Selling Expenses 2,50,000
To Preliminary Expenses
written off 50,000
To Met Profit 1,798

63,70,000 63.,70,000

WTO-H P.T.O.
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In the Cost Accounts |

(i) Factory expenses have been allocated to production at 20% of

Prime Cost.
(ii) Administrative expenses absorbed at 10% of factory cost.
(iii) Selling expenses charged at ¥ 10 per unit sold.

Prepare the Costing Profit and Loss Account of the company and
reconcile the Profit/Loss with the profit as shown in the Financial

Accounts.

(b India Limited requires ¥ 50,00,000 for a new Plant, This Plant is 8
expected to yield earnings before interest and taxes of T 10,00,000.
While deciding about the financial plan, the company considers the
objective of maximising earnings per share. It has three alternatives to
finance the project — by raising debt of ¥ 5.,00,000 or ¥ 20,00.000 or
T 30,00,000 and the balance, in each case, by issuing equity shares. The
company’s share is currently selling at ¥ 150, but is expected to decline
to T 125 in case the funds are borrowed in excess of ¥ 20.00,000. The
funds can be borrowed at the rate of 9 percent upto ¥ 5,00,000, at 14
percent over ¥ 5,00,000 and upto T 20,00,000 and at 9 percent over
T 20,00,000. The tax rate applicable to the company is 40 percent.
Which form of financing should company choose ? Show EPS Amount

upto two decimal points.

WTO-H
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Royal transport company has been given a 50 kilometre long route to g
run 6 buses. The cost of each bus is ¥ 7,50,000. The buses will make 3
round trips per day carrying on an average 75 percent passengers of
their seating capacity. The seating capacity of each bus is 48
passengers., The buses will run on an average 25 days in a month. The
other information for the year 2016-17 is given below :
(_}-E..l:agﬂ Rent o 7 6,000 per month
Annual Repairs & Maintenance T 24,000 each bus
Salaries of 6 drivers T 4,000 each per month
Wages of 6 conductors T 1,600 each per month
Wages of 6 cleaners T 1,000 each per m{}n&-‘l“
Manager's salary T 10,000 per month
Road Tax, Permit fee, etc. T 6,000 for a quarter
Office expenses T 2,500 per month
Cost of diesel per litre % 66 i
Kilometre run per litre for each bus 6 kjlum;tlr_es
Annual Depreciation = 20% of cost
_.ﬂs_nnual Insurance 4% of cost
Engine oils & lubricants (for 1000 kilometres) [T 2,000
You are required to calculate the bus fare to be charged from each
passenger per kilometre (upto four decimal points), if the company
wants to earn profit of 33% percent on taking (total receipts from
passengers).

WTO-H P.T.O.
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(b) Following information relates to ABC company for the year 2016 : 8
(i) Projected sales : (¥ in lakhs)

Munth' August | September | October | November | December

Sale 35 40 40 45 46

(i1) Gross profit margin will be 20% on sale.

(iii) 10% of projected sale will be cash sale. Out of credit sale of each
month, 50% will be collected in the next month and the balance
will be collected during the second month following the month of
sale.

(iv) Creditors will be paid in the first month following credit purchase.
There will be credit purchase only.

(v) Wages and salaries will be paid on the first day of the next month.
The amount will be T 3 lakhs each month.

(vi) Interim dividend of ¥ 2 lakhs will be paid in December 2016,

(vii) Machinery costing ¥ 10 lakhs will be purchased in September
2016. Repayment by instalment of ¥ 50,000 p.m, will start from
October 2016.

(viii) Administrative expenses of ¥ 1,00,000 per month will be paid in

the month of their incurrence.

(ix) Assume no minimum cash balance is required. Opening cash
balance as on 01-10-2016 is estimated at € 10 lakhs.

You are required to prepare the monthly cash budget for the 3 month
period (October 2016 to December 2016).

WTO-H
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5. Answer all four :

(a)  Write short notes on ¢

(i)

(ii)

Sunk Cost

Opportunity Cost

Marks
4x4

(b) What is meant by “cost centre”™ ? What are the different types of cost

centres ?

(c) List the emerging issues (any four) affecting the future role of CFO.

(d) State advantages of Debt. securitisation.

6. (a) The following information is available from the cost records of a ¢
Company for the month of July, 2016 :
(1) Material purchased 22000 pieces ¥ 90,000
(2) Material consumed 21000 pieces
(3) Actual wages paid for 5150 hours T 25,750
(4) Fixed Factory overhead incurred T 46,000
(5) Fixed Factory -::lrverhead budgeted T 42,000
(6) Units produced 1900
{7} Standard rates and prices are :
Direct material ¥ 4.50 per piece
Standard input 10 pieces per unit
Direct labour rate T 6 per hour
Standard requirement 2.5 hours per unit
Overheads < & per labour hour
WTO-H P.T.O.
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You are required to calculate the following variances :

(i) Material price variance
(ii} Material usage variance
(iii) Labour rate variance

(iv) Labour efficiency variance

(v) Fixed overhead expenditure variance

(vi) Fixed overhead efficiency variance

(vii) Fixed overhead capacity variance

(b) Following is the capital structure of RBT Limited as on 31" March 2016: 8
- Particulars Book Value | Market Value
®) ®)
Equity Shares of Z 10 each . 50.00.000 |  1,05,00,000 |
Retained earnings l3,[]ﬂ,ﬂﬂl]. -
11% Preference shares of € 100 each 7.00,000 9,00,000
14% debentures of ¥ 100 each 3000000 | 36,00,000

Market price of equity shares is ¥ 40 per sharc and it is expected that a

dividend of ¥ 4 per share would be declared. The dividend per share is

expected to grow at the rate of 8% every year. Income tax rate

applicable to the company is 40% and shareholder’s personal income

tax rate is 20%.

You are required to calculate :

(i) Cost of capital for each source of capital,

(i) Weighted average cost of capital on the basis of book value

weights,

(iii) Weighted average cost of capital on the basis of market value

weights.
WTO-H
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7. Answer any four of the following : 4x4

(a)

(b)

(c)
(d)

=16
What is meant by Job Costing ? Give examples of (any four) industries

where it is used.

Give the method of costing and the unit of cost against the under noted
industries :

(i) Road transport

(i1) Steel

(i) Bicycles

(iv) Bridge construction

Explain briefly the functions of Treasury Department.

Explain the following ;
(i) Bridge finance

(ii) Conversion cost

Explain the relevance of time value of money.

WTO-H
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(Hindi Version)

Marks

o e i Srge S Rt mmem o ¥, wel o g et il A A E

o et Forert ot e e < &, e e T R

1 Ta% fel o fad 4 I o HeEiEA e e |

wYH HET 1 e

o9 T Wl H W Tt a0y & She A |

fs i et Fdfer Gen @ wfes weRam 3 S ¢ At ST-gRe | wed w e
Ferdforer st o 8t weiE T swaT e sl weR ST % StarE i 3uT

fepam s |

e forfort (Working Notes) 39T & 9077 219 = |

|. FrefaiEd & S &l
(a) ABC % & afustal & 31 o i frey et s €
T 2015QRFad) | 2016 RFmET) |
e 200 250
e 30 45
T i ;

(i)  TAT/HETET SO (Ratio) 79T o1 T @ (Fixed Expenses)
(ii) T9-fa=T (break-even) fassa v w7
(iif) T 70 = @1 o At B & e aited fawg

WTO-H
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(b) T fefmee w=l == At weal # Famr & 1 A ge & et & oo
THEE "LED" &I U 39 (Unit) 1 3TA9I%Har € | ‘LED® WueF & o1y
sErvEeEaT 72,000 st & 7o wa T 300 v R

=y 2015-2016 & fow s mrafe e sq wr &

U IMEYT i UET FA F AN 2,250

T qEA AT t 12% Wi A
ST HIT

e 20 f

=g : 8f&

aitere : l4fem
ST 4 (Emergency Purchase) @ 5 TaH

T

affaam : 400 gt e
A : 200 gETEET HfafE
e ‘ + 300 FoTEEr yfeie
TR e & T s e w6t

(i) U7 3T 9ET (Re-order quantity)
(i) 97 3w '
(iii) =gaH 2 =y
(iv) Hysas =iE w7
(v) @ % (Danger level)
WTO-H P.T.O.
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(¢) ABC ot & F9aT Y (Equity Share) 309H 5 a7 | T 25 Wi 391 W

YA & | T T 2 Wi e st o o faata st & 1 e aem
ufet = 6% FhE 7T i T HAE |
3ot smafda &

(i) T % FOET 3T S ST HNE T

(ii) =fe wenfer afe 57 8% uf = #, =t ffee s e vl st &t e
AT |

(iii) aft F 10% FOT93 (Debentures) (3 100 i sor) frifha e &
T T 96 wiH WO W HE E | walE o 12 99w 12%
g (Premium) W 91 &, 019 1 AT 41 Bl ?

AT % ITEHT H & 50% FFE |

(d) 31 |, 2016 P wATE a6 & fow YZ wet fefee wrasd feefabas g
TR ST € :
THen e 4= T 10 9fa Hww O
12% ®iogm (T 1000 e aive) T 3o
ferea I f4@m
T AT (ST 6 BIEH) T 6.967mE
foreita el ' 1.49
FAT-HTE 3T (Ratio) 27.55%
ST Bl WHTE! 2T 40%
T arafere & o o

(i) R FET (Operating leverage)

(i) i st T

(i) wher afor 3ami= (EPS)

U & ZYEE 3% (decimal points) 75 RETT |

WTO-H
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2. (a) USSR S U A IS W e o s 20,000 s A 3O A g
ufe g ufterwieT e € 20 & S wdt sufesrm (Fixed Overheads)
73.20,000 % |
ST ST
(i) fempa w 10% & afSa w0 & o fawe gea wid oee, w-famey
fareg 3t xgzem =it dimn &t 1o Sl |
(i) =f foska geg 10% ¥ w27 fear smo &t w40 5000 $Eal | agr geafEa
& 1 3o T, Wl faeg S e @ e 9T R e g
(iii) 3 e T 64,0000 7T TR I HET Ht MOET B

(b) ABG %! s &t 31 7, 2016 &1 T9e B4 9t ad | gl gen

& T frferra &
fersar (2T ) T 50,00,000
el T4 (Gross Profit) ST 28%
T e AT (Turnover) AT (fashia w187 ®i &0 &
e 1.5
2T SR S (R I A O S 6
TN ST ' I:1
o] S 1.3
TS ST Aty 45 fe
e UE Y (Reserves and Surplus) / 397 971 0.60: |
TSt gl (Capital gearing) 3O 0.5
Tyt wefeEt / v 9o (Net worth) 1.2:]
I AT & AEW G 31 A, 2016 F AT T | 0F A H 360
Ty mifet |
WTO-H P.T.0O.
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3. (a) 31, 2016 H WA £ At A % fom o S wm e v e g
AT 3 WE
ST AT AT =
4 L4
T 126.80.000| o (50,000 sersa) 62,00,000
o =9 T (Closing
17,80,000| Stock) (2000 gere) 1,50,000
FAEE A9 9.50,000| W SR (Dividend) 20,000
v 559 4.80.200
e = 2,50,000
e = Aty
{ Written off) 50,000
TE @rH 1,79,800
63,70,000 63,70,000
T e o

(i) HERAT &g, Tt A W 20% $ 5 T I H At w5 S e |
(ii) ST = ST T T 0% i w5 )

(iii) e =, farsr 1 T gepreat e, T 10 wfer geed =t fepd o € 1
FOTAT ST AT ATH-E1 S T Hi T A i fade am e

% TY FHME H |
WTO-H
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(b) sfvemr fofmes % v 79 w47 & o € 50,00,000 F1 sEvEsT € H9IH g

w7 wE =E " T 10,00,000 B 2 w7 F e € | Ewe aeEr a6
Y FHT W S S ST %3 W e W E
o afeEier & fasie @ i fawes & 1 T5,00,000 A1 T 20,00,000 @
T 30,00,000 HT 0T UIH FH T UedH w90 H IY FHAT 90w e
(issue) HTE | ATH 5 HEOA & 379 T 150 W fre @ &, | T 20,00,000
o affas Iuw & it 3w A T 125 A% i o9 & e & ) et st
T 500,000 75 9 e @t 57 7, T 5,00.000 ¥ e 7 T 20,00,000 TF
|4 WiFARTE 1 SC 9 @ € 20,00,000 | s 19 vl @ 57 W oA
ST WA € | FIEHT 9T AV R G 40% & | Tt wl e # e ey

W TEA AT HET

(IfeT 3 U SIS % & 3 o )

4. (a) e AEEE T B o6 =G B AEE % o 50 feeidter e ot B g
T | U A A T 7,50,000 & | & syt difen e w0 aftEe 75
mﬁW@H%SW{munduips}mﬁlﬂ?&ﬁ?Wﬁﬁf
ST 48 Tt & | w9 e o o afteee 25 f5 w1 = 2016-17 @

T G A G e
it & T T 6,000 vfee
A A o TEE % 24,000 w79 J

WTO-H P.T.O.
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a_-;rsaﬁaarﬁm u,nauwﬁ:mw%nﬁ |
6 Tl i il % 1,600 ufamqhnm
6 A T HGH I? 1.000 i e wiaame
VT AT % 10,000 wfe =
g T, Tihe Wi e % 6,000 Ui faewt
w%m _ n,stmsrﬁrﬁm
SiTe St AT Wi Tt T 66

Reetidiz? ST uid oot (ras ae & e |6 e

=S &1 (Depreciation) T = 20%

ElEaial] AT T 4%

S SifAe A et (1000 feetizt & fam) 7 2,000

T i e T 91 % R w T e & (e & AR
s ) o e el @ & et e 335 e 9w A
maﬁmmaﬁ%u

(b) ABC wrtt Hi = 2016 3 g Fmn e - 8
(i) wETE (Projected) fawt : (¥ v W)

HE Wfaamr.aa@? ECis femm

GEal 35 40 40 45 46

WTO-H

© Thelnstitute of Chartered Accountants of India



(19)
WTO-H . Marks
(ii) e o9 (Gross Profit) |ifes faer @1 20 nfaers g

(iii) wetfer faset =1 10% Tps fasl &l | Wl A w5 suw fE @ s0
TR 37T HE W U A S a9 9 fa et gE A o
e fwar wm |

(iv) RT3 %4 & I Uk 5E H o S | %Y e 39w
&

(v) Wil 30 A T S W % Teet fa g | Wil o A
wfvr wie W ¥ 3w R

(vi) %2 ¥ & SFaRm A @ e ey 2016 # e smo

(vii) T 10 @ra =t e @ w2016 F wa St | faet
% 50,000 vt A =i o S =oE sEaT 2016 ¥ 399

(viii) voIfE =1 rrh A T 1,00,000 & o g sd@ 5w fea
Sy

(ix) & MHE o $i Fan A5 99 aavEs @ | o de o

01-10-2016 =t T 10 g et far mm |

HTH 3 TE (ST 2016 H T 2016 79) Wi Uws T (Cash
Budget}ﬁﬂ'ﬂT% |

WTO-H P.T.O.
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5. @ Iyt & 39 S

(a)

(b)

(c)

(d)

6. (a)

forer w g femott et

()

gl T (Sunk Cost)

(i) 3TEET T (Opportunity Cost)

Marks

ST e W T A & 0 Al veR & A Sl % A § aaned |

e ot afummt (CFO) #t s qives it yaifad & & Iwed fawet

(fo2t =) Wi gEieE i |
0T Werqfefehtor (Debt, Securitisation) 3 FTWI &1 Feei i |

U A F 2016 F A A6 & oA afverat § Fefataa o soes

T

(1)

(2)

(3)

(4)

(3)

(6)

AT 22000 @E (Picces)
TIE - 21000 @vg
AT e Al 5150 5
fepet T Tyt ST 39S (Overheads)
AT T HEA! T
Frifaa gl 1900

WTO-H
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T 25,750

7 46,000

342,000

4xd
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(7) A 5L o e 9 W §
T (Direct) HEHT T 4.50 wia wvg
HAF (Standard) T2 1() oz ufy g
TR 49 7Y 2 6 Wi "o
A ST 2.5 =2 yie e
e T 8 Wi 9 woeT
s Fereferfian farseot it o ardfiaa &
(i) T g fEremoT (Variance)
(i) T W4T (usage) fammo
(i) &= =T fammo
(iv) = wrtpTeE fae
(v) wret sufvems e faemm
(vi) i 2ufeny g e
(vii) T Zaf{=ra &5er (Capacity) fareor
(b) RBT f@fe= =7 31 919, 2016 F1 I i1 ey wopm & 8
feraro TES A |
® (%)
S 3 @ T 10 ufe s 50,00,000 |  1,05.00,000
e 3t 13,00,000 -
| 1% TaifaesT 3797 (Preference Shares)
(¥ 100 wfa 37 7,00,000 9,00,000
14% T (Debentures) (3 100 Hfe o
ERE) 30,00,000 36,00,000
WTO-H P.T.O.
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T A9 W AT g T 40 i 3w | U e s # G e 34
ufty afer =T =7 & wifee s | A e 2w w5 weat gig a7 8 vl i
o e ¥ | S W S A A 40 WiAv & T SR &
AT ST i 2T 20 v € |
ATTR! T HEAT E
(i) =i 3 v i e B
(i) T 969 9 % WME W P @ 9itE i @ (Weighted

Average Cost of Capital)
(iii) AT o 9T % 3T 9T O it SireE @ |

7. Tefahen g 9 e o 3w S it
(a) S9HE TVE (Job Costing) @M | =7 a9 & 7 T&AM (el =) &1 S =16
<ifeTe st & i =t S E |
(by =it sait & o @ fafl v e & g = seer St
(i) wEF iEE
(i) e
(iii) =k
(iv) ﬂﬂﬁﬂ?ﬂT
(¢) I fET (Treasury Department) & ST =1 Hiere =megn SifaT |
(d) =1 =t =grE it
(i) = & (Bridge Finance)
(ii) wiee Fm
(e) HET & WA HF@ Ff WHITEH (relevance of time value of money) &I ZATE
Hifa |
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